KommexkroBouynas Be1oMOCTb Ne 6 12.10.2016
OOBEKT "o, "
z Paswep Tonuw- | Enun M2
= HaumMenoBanue n3nenus Kom. [Ipumeuanus
2 A,mm | H,mm | h, Mmm |Ha mucta] usm Ha e]I. BCEro
1 2 3 4 5 6 7 8 9 10 11
1 [CrinpanbHblii BO3YX0BOX 9355 3000 0,7 HIT. 6 3,34 20,06
2 |CrimpasnbHBIH BO3TYXOBOJ D355 1500 0,7 IIT. 1 1,67 1,67
3 [CnupanbHblii BO31yX0BOI D355 1000 0,7 1T, 3 1,11 3,34
4 |CrimpasbHBIA BO3TYXOBOJ D355 700 0,7 IIT. 2 0,78 1,56
5 [CrnmpanbHblii BO31yX0BOI D355 300 0,7 IT. 1 0,33 0,33
6 |CriupanbHbIi BO3IyXOBOJ D315 3000 0,7 IIT. 1 2,97 2,97
7 |CrnmpanpHbIi BO3IyX0BOX D315 950 0,7 IIT. 2 0,94 1,88
8 |CriupanbHbIN BO3IyXOBOT 0250 2500 0,55 IIT. 1 1,96 1,96
9 |CriupanbHBINA BO3IyXOBOJ 0200 3000 0,55 IIT. 1 1,88 1,88
10 |CiupanbHbIii BO3IyXOBOJ 3200 1500 0,55 IIT. 1 0,94 0,94
11 (TIpsmoit yu-k 2350 450 0,7 IIT. 2 0,49 0,99 Koxyx
12 |[Ipstvoit ya-k 1252 600 0,55 IIT. 1 0,47 0,47 Ipsmmoit
13 |[Ipsimoit yua-x 2250 1000 0,55 IT. 3 0,79 2,36 Tpy0a B TpyOy
14 (TIpsmoit y4-k 2250 500 0,55 IIT. 3 0,39 1,18 Tpy0a B TpyOy
15 (TIpsmoit yu-k 300 150 750 0,55 IIT. 1 0,68 0,68 Peiixa
16 |[Ipstvoit yu-k 250 150 1200 0,55 IIT. 1 0,96 0,96 Peiika
17 (TIpsmoit yu-k 150 150 1300 0,55 IIT. 1 0,78 0,78 Peiika
18 [TIpsamoit y4-k 100 150 1200 0,55 INT. 1 0,60 0,60 Peiixa. B Topue 3arm.
19 |OtBOZT D355 0,7 IIT. 4 0,72 2,88 [punoxenwue 1
20 (OtBOZ 2350 0,7 IIT. 1 0,65 0,65 Koxyx
21|0OTBOxI 2250 0,55 IIT. 1 0,40 0,40 [punoxenue 1
22 |OtBOA 2250 0,55 IIT. 1 0,36 0,36 [Ipunoxenue 1
23 [TTomy otBOL D355 0,7 IIT. 2 0,50 1,00 [punoxenwue 1
24 |ITepexonm D351 2311 400 0,7 IIT. 1 0,42 0,42 [punoxenue 1
25 [TTepexon @311 2246 400 0,55 IIT. 1 0,36 0,36 [punoxenwue 1
26 |ITepexon D246 2196 400 0,55 IIIT. 1 0,28 0,28 [punoxenue 1
27 |Ilepexonm @250 300 150 0,55 IT. 1 0,19 0,19 [punoxenue 1
28 |ITepexon 300x150 250 150 0,55 IT. 1 0,13 0,13 [Tpunoxenue |
29 |ITepexon 250x150 150 150 0,55 IIT. 1 0,11 0,11 [punoxenue 1
30 [Tlepexox 150x150 100 150 0,55 IIIT. 1 0,08 0,08 Ipunoxenue 1
31 |Tpoitauk ¢ Bpe3k.0250 1250 0,55 IIT. 1 0,50 0,50 [punoxenue 1
32 | Tpoiinuk ¢ Bpe3k.D350 9350 0,7 IIT. 1 0,72 0,72 Ipunoxenue 1. Koxyx
33 [Koxyx Ha BEHTHIISITOD 0,7 IIT. 1 0,68 0,68 [Tpunoxenue 1
34 |T'unb3a 0351 200 0,7 IT. 5 0,22 1,10 Ipuoxenue 1
35 [T'unb3a D311 200 0,7 IIT. 2 0,20 0,40 [Tpunoxenue 1
36 |['mib3a 2196 200 0,55 IT. 1 0,13 0,13 Ipuoxenue 1
37 |l'unb3a 2252 80 0,55 IT. 3 0,06 0,18 [Tpunoxenue |
38 |3armymika 2196 100 0,55 IIT. 15 0,09 1,35 [punoxenue 1
39|0T1BOA 355 0,7 IIT. 1 0,72 0,72 [Tpunoxenue |
40 |ITepexonm D355 2400 0,7 IIT. 1 0,47 0,47 IIpunoxenus 1
41 [Tlepexon B355 290 515 0,7 IIT. 1 0,38 0,38 Ipunoxenue 1
42 [T'ubkast BCTaBKa 2400 0,7 IIT. 1 0,13 0,13 [Tpunoxenue 1
43 |T'ubkas 290 515 0,7 IIT. 1 0,16 0,16 [puoxenue 1
58,40
JIuCcT OIMHKOBAHHBIA
TonmuHoM 0,7 MM, 21,26 M2
2000x1000
JIucT ouMHKOBaHHBIN
TOJIMHOM 0,55 MM, 7,94 M2
2000x1000
1 | XomyT kpenexHsiit ¥355 8 IIT.
2 | XomyT kpenexHbiit @315 2 I1IT.
3 | XoMmyT kpenexHbiit ¥250 1 IIT.
4 | XomyT kpenexHbiii 9200 2 I1IT.
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